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01.

02.

03.

04.

Section - 1

English

Choose the correct option for the underlined part of the following.
Charuta wants to decorate her bungalow. For that purpose, she visited a person
who is master in beautifies the inside of a house.

(1) building contractor (2) merchant
(3) sailor (4) interior decorator

Read the sentence and recognize its type by choosing the correct option.
Bind up the wound with a bandage.

(1) Exclamatory Sentence (2) Imperative Sentence
(3) Interrogative Sentence (4) Assertive Sentence

Fill in the blank by choosing the correct option for the correct conjunction.

He worked hard to sell the wood in the morning grains in the evening.
(1) because (2) so (3) and (4) since
Choose the correct alternative to complete the following set of words.
<D P| T|H|]L|P|S
AT S Al T/|Q
P| HNWNHRR | T|O]| S
LI M|[|[ENANE | P I
B| AJ||lE|]|] C NL[NY | Z
s |||t k||AN] G
A | B|[S|| E|[|[M|| H|YV
Al O|C|R|P]|W|P
S| T| M| S| Q| N| P
(1) decoration (2) relatives (3) crackers (4) cloths

SPACE FOR ROUGH WORK
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05.  Select one correct option for the underlined word to make it opposite of it. BRS

If you do not wake up early in the morning, you are for school. PRI

(1) late (2) early (3) perfect (4) in %F:jt%

06. Choose the correct alternative that shows the correct meaning of the underlined :ﬁé
words. ei

They received the president of the college with open arms. :ﬁé

. . 0.,

(1) with someone's presence (2) with excellent work R

(3) with fear (4) with warm welcome RISS
Instruction for Q. 07, Q. 08 and Q. 09 - POIG
Read the passage and choose the correct alternative. BRS

QIO

Many years ago, at the foothills of the kaatskill (kat-skill) mountains,
was a little village. In the village lived a simple, good-natured fellow named
Rip Van Winkle. He was a kind neighbour, ready to help anyone. Everyone in
the village liked him. The children of the village shouted with joy whenever
they saw him because he played with them, he taught them to fly kites and
shoot marbles and told them long stories.

The only problem with Rip was that he was very lazy. He did no work
on his own farm and just idled away his time. His fences were falling to
pieces. His cow was going astray. Weeds grew on his farm. Rip's constant
companion was his dog, named Wolf. To avoid work, he would walk away
into the forest with his dog.

07. What did Rip Van Winkle teach to the children? (Choose any 2 answers)

(1) to write poems (2) to fly kites

(3) to tell stories (4) to shoot marbles
08. Who was wolf ?

(1) boy (2) wolf (3) dog (4) villager
09. Match the pairs.

A B

1) fences a) going astray

2) cow b) falling to pieces

3) weeds c) mountains

4)  kaatskill d) grow on farms

(1) 1-b; 2-a; 3-d; 4-c (2) 1-c; 2-d; 3-a; 4-b

(3) 1-d; 2-a; 3-b; 4-c (4) 1-a; 2-b; 3-c; 4-d

SPACE FOR ROUGH WORK
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10.

11.

12.

13.

Read the following pairs of homophones and find out a pair which is not a
homophone. Choose any one correct option.

(1) Steel - still (2) though - thought
(3) main - mane (4) right - write

Observe the following website and choose the correct option for the given
question.

FERIS W Government of Maharashtra SKIP TO MAIN CONTENT Q & & EncusH

a Digital India

HOME ABOUT DISTRICT v CORONA VIRUS-COVID19 DIRECTORYY  DEPARTMENTY  TOURISM v DOCUMENTS v NOTICES v = MORE

HOME / DIRECTORY / PUBLIC UTILITIES / UNIVERSITIES / Maharashtra University of Health Science (MUHS)

Maharashtra University of Health Science (MUHS)
Maharashtra Health Science University, Mhasrul, Vani Dindori Road, Nashik-422004
Email: registrar[atjmuhs[dot]ac[dot]in
Phone: +2532539100
Website : https://muhs.ac.in/
Category/Type : University
What is the above website about?
(1) Social Science (2) Mathematical Science

(3) Environmental Science (4) Health Science

Choose the correct option for the indirect speech.
The mouse shouted,"Let me go".

(1) The mouse shouted that to let him go.

(2) The mouse shouted to let him go.

(3) I shouted to let mouse go.

(4) The mouse shouted that let me go.

Find the meaningful word from the following jumbled letters.
EATRTHE

(1) EARTHE (2) THROWING
(3) THIEF (4) THEATRE

SPACE FOR ROUGH WORK
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14.

15.

16.

17.

18.

Fill in the blank by using comparative form of the verb.

My car is quite slow and I want to get a (fast) one.
(1) faster (2) fastest
(3) more fast (4) most fast

Choose two correct modal auxiliaries showing possibility in the following

sentence.

Rohan write in his notebook.

(1) could (2) must
(3) can (4) should

Look at the following slogan and choose the correct option for the given
question.

‘Each one-teach one’

This slogan is used for

(1) Literacy awareness programme (2) Green revolution programme

(3) Health awareness programme (4) Addiction awareness programme

Read the following sentence and choose the correct alternative.

The door by the teacher.
(1) is being shutting (2) were being shut
(3) are being shut (4) 1s being shut
Complete the web of adjective for the word given. Choose any one correct
option.
Clear
i
? Sun golden
v
Orange
(1) bright (2) dim
(3) black (4) dull

SPACE FOR ROUGH WORK
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Instruction for Q. 19 and Q. 20 -

Read the news and choose the correct option.
[ Seminar on Diabetes |

On 29 September, on the occasion of World Heart Day, New Vision
School, Mumbai organized an interactive seminar for the parents of New Vision
School. Dr. Sanjay Gupta, the Senior diabetologist was the main speaker for it.
Approximately 152 parents attended the seminar. This seminar was organized
by Doctors' Medical Association along with school.

19. Choose any one correct option for the given question.
The seminar was organized for .
(1) all (2) teachers
(3) students (4) parents

20. What kind of seminar was organized by the school?
(1) recorded (2) wvocal

(3) interactive (4) written

21.  Choose the correct option from the following which shows the pronouns.

Sun Wakang is brave and intelligent. But he is also a trickster. His body is
as hard as diamond.

(1) also, and (2) as, is
(3) he, his (4) brave, intelligent

22, Choose the correct option to identify the tense of the underlined words.
The train has started before I reached the station.
(1) past perfect (2) present perfect

(3) present continuous (4) simple past

SPACE FOR ROUGH WORK
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23.  Choose the correct alternative from the following to complete the puzzle for
the meaningful words.

C|IH|E|?|T
? A
M
?

(1) a 2) o (3) e 4) i

Instruction for question no. 24 and 25.
Read the passage and choose the correct alternative.

When they arrived at the seaside, out jumped all the children with a
shout of joy. Down to the sands they raced, hand in hand - but Nobody took
Hari's hand. Nobody went near him.

Hari was angry. He went to a sandy corner near a rocky pool and sat
down by himself. He took out his lunch and looked at it. It was a good
lunch. There were two hard-boiled eggs, six jam sandwiches, three pieces of
bread and butter, a ginger cake, and a bar of chocolate. He would eat it all
by himself. He wouldn't offer anything to anyone!

24.  Complete the web by choosing 2 correct options.

Cake
i
? Hari’s Lunch eggs

v

?
(1) bread and butter (2) juice
(3) Dbiscuits (4) bar of chocolate

25. How was the pool?

(1) sandy (2) narrow (3) deep (4) rocky

SPACE FOR ROUGH WORK
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SECTION - II
INTELLIGENCE TEST

26. In the following number series, how many times two prime numbers follow each
other consequently?

3574263794253249756209
() 8 2) 6
3 7 “4) 5

27. In the given alphabet series to get the word opposite in meaning of the word
‘beautiful’, which will be the correct order of numbers?

(1) 21, 10, 25, 12 2) 21,7, 11, 25
(3) 21,7, 12, 25 @) 12, 21, 8, 25

Directions Q. 28 to 32.

Find the odd term.

28. (1) talented (2) dull
(3) intelligent (4) bright
29. (1) Potato (2) Ginger
(3) Elephant foot (4) Sweet Potato
30. (1) 289 (2) 143
3) 221 4) 187
31. (1) SUW (2) BCE
3) MQS (4) EGK

SPACE FOR ROUGH WORK
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26. 303 ©o3RRGEDY BRoOEROR SRS B FoaNeE. Gert JF B wRF?

oen - 11

neds

woseng: - 3,5,7,4,2,6,3,7, 9, 4,2,5,3,2,4,9,7,5,6, 2,9

(1)
3)

27. Y35, FFYPN, PR, TOT, TP00eds, Feik FpedR 35 BUNTI) Bror DFWTY,
LBODTN FOFPATE, WA B, CIRFTO?

(1)
3)

8
7

TRTOEST

SN
e

2)
4)

2)
(4)

B3 3008 28 0o 32 T TeOTRN TAUR:
rooant #edm BRI, MOTHR0.

28. (1)
3)
29. (1)
3)
30. (1)
3)
3. (1)
3)

nns

3503

eI

"’Nms@rﬁ%

289
221

SUW
MQS

2)
(4)
(2)
(4)
2)
(4)

2)
4

6
5

oL

: e»_%@?'{
3oR

&

368
90200
3000

afaore)

143
187

BCE
EGK

BTV B FOTFN
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32.

(1) 2) ) (4)

33.  Find out the rule underlying the arrangement of numbers in the following question
and choose the correct alternative that will replace the question mark.

/IN DN /N

(1) 4 2 1
G3) 3 “4) 2

34.  Observe the numbers given in the following square and choose the correct alternative
to replace the question mark. [Choose two correct alternatives]

35 | 28| 13

171 2 |52

62 | 43 | 22
1) 73 () 85
3) 8 4) 10

SPACE FOR ROUGH WORK
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32.
(D (2) 3) 4
33. 29n3 BIoDY, BRITOD BT, WIAT Foad, 0IRFT?
(1) 4 2) 1
(3) 3 “4) 2

34, 3INT WPTRY, T 235500 #@%ﬁcﬁ@m WTOE RogB, CIRPYT? (FOXBRT  DTB)

= =

5055@?0337@;’% e:s@%@)

35128 |13
1712 |52
62 | 43 | 22
(1) 73 (2) 85
3) 8 4) 10

BTV B FOTFN
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35.  Find the hidden part of the question figure from the alternatives given.

Question Figure: Answer Figures:

BN

(D) () ) (4)

Directions : Q. 36 to 40.

In the following series determine the rule underlying the series and find out the
term in place of the question mark.

36. 6, 6,09, 18, 45, ?
(1) 90 2) 145
(3) 125 @) 135

37. 3,8, 15, 26, 43, 68, 103, ?
(1) 150 2) 120
(3) 206 4) 152

3. OxAO+ XOADO+, XAOOH, ?
(1) XAO+0O (2) XAOO+
(3) O+xXAO 4 AxOO+

39.  YX, WU, TQ, PL, ?
(1) KE 2) LE
(3) JE (4) KF

SPACE FOR ROUGH WORK
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35. a’jmjoéoja@ BN e%%odaab TOTREOINTE), SORD.

B3 &7 ! QBT SFIND !

(1) 2) 3) (4)

B3 37008 36 00 40 T TeOTN TAUR:
$9NS BROFODHY, BB, WHEH AYRS, WS TRDI, BEIRFODRTOT SO0

36. 6, 6, 9, 18, 45, ?
(1) 90 (2) 145
(3) 125 (4) 135
37. 3,8, 15, 26, 43, 68, 103, ?
(1) 150 2) 120
(3) 206 (4) 152
38. OXxAO+, XOAO+, XAOO+, 9
(1) XAO+O (2) xXADO+
(3) O+xXAO 4) AxXOD+
39.  YX, WU, TQ, PL, 2

(1) KE (2) LE
(3) JE (4) KF

BTV B FOTFN
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41.

B
NI

(D () () (4)

In a queue Vihan is at 23 position from left and Sonal is at 151 position from
right. There are four boys between them. Find total number of children in the
queue. [Choose two correct alternatives. ]

(1) 41 2) 31
3) 32 @) 42

Directions: Q. 42 and 43.

42.

Choose the correct figure from the alternatives given that exactly matches with the
question figure.

Question Figure: Answer Figures:
(1) 2) €) (4)

SPACE FOR ROUGH WORK
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40.

(o1
ANV

(1) (2) 3) “4)

dapyan
NN

CTA AT
RCDAD;

=
N
AWAN
N

*
y | .
%
o/

41. 2,00 WOT, LTOIIT RBWAOWOT 2330 TN AREIOT  WOWRI0T

15 Jod FWRoF BW. wBOWT [EW DL, BORONOTY, & WITY, widd, IR,

daé&@cs%@? (#Gomcﬁ RTBY BOIFEOD @6%6)
(1) 41 2) 31
3) 32 4) 42

T3 T[0T 42 Tone 43 T TN TRWH:
3INT BIogBodeotrt FoTpeareen BReLoR B8 NOTO8RD.

42. =3 wgs: QT TSN ¢
(1) (2) 3) (4)

BTV B FOTFN
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43.  Question Figure: Answer Figures:

Ry
000

44. At which position from right, will be the letter, which is at equal distance from
the letters I and U; in the given alphabet series.

(1) 11™ Position (2) 12t Position
(3) 10% Position (4) 8t Position

45. In the given alphabet series first and third groups are interchanged, similarly fifth
and second groups are interchanged and a new Alphabet series is formed. Then

which letter will be at the middle position between the letters Q and M in the
new Alphabet series?

(I O 2) A
3 X 4 Y

Directions Q. 46 and 47.

A wooden cube is painted red on the opposite two surfaces, green on the other
two opposite surfaces and blue on the remaining opposite surfaces. The wooden
block is cut on all the faces thrice at equal distance. Then

46. How many cubes have only two colours red and blue?
1 38 2) 12
3) 10 4) 4

SPACE FOR ROUGH WORK
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43. =3 egs: QBT SFIND ! ooV

D 00D |
(1) (2) 3) "

.‘.V"

52U\
OO
QOO

QO
Q
s

\®
i
QIO

Y

4. ogomndodod 1 B3 U 88 ©3dnved Anns ©o3dngdds «Idw) i

WOWHOWT AR BBROTBEL?
(1) 11 Job 2) 12 S
(3) 10 oD 4) 8 Seb

45 ©TTTREDYL BHTOFTD TIMH TORTIOD MIOTFY, BTLIWTLI
TREEDBY. DB TeNL HTBEIAD MOOTI), WTLIWTLO [IRRWIN
BOINTIMOT TRZ FTRRSCDY, Q Tore M 83 £30NY S@E G WNGEY,
W3E 8T CIRFT?

(1) O 2) A
3) X 4 Y
B3 8=R08 46 TR 47 T FLoTON AoLs:

2,000 PRGN TegioD 0w IRTEROB WTT Fo@0D FFRNANY Hoed
0y, BT, Jed B3 DeICIRN FaRTO 2EY, FRBEROWED =B & B0, AXF
R0 FBIRT L0TTHE), ORTY IO FZOILHCWD. ToMWLST....

46.  203) Tonwe O T3 HTZC 2EQ, QTR @3% BOOBINTY S0TNTINIRR)?
(1) 8 2) 12
(3) 10 4) 4

BTV B FOTFN
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47. How many cubes have only one face painted?
(1) 36 2) 12
(3) 24 4) 30

Directions Q. 48 to 50.

Observe the following pyramid of numbers and choose the correct alternative that
will replace the question mark in the questions that follow.

15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30

48. 25321237 : 33263137 : : 38182923 : 9
(1) 24133916 (2) 24133539
(3) 30362413 (4) 39351324

49. 28, 20, 38, 32, 37, 29, 16, 26, 2, ?
(1) 13, 35 2) 35, 21
(3) 24, 30 @) 21, 35

50. Choose two correct alternatives for the following question.
271912 : 311722 : : 281438 : ?
(1) 322329 (2) 243621
(3) 292332 (4) 373916

SPACE FOR ROUGH WORK
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47, 3eRo wotie WOR WERNTHE R, PIFS BO0BNW SEXNTINED)?
(1) 36 2) 12
(3) 24 4) 30

DRIO
oo

3B 30008 48 00T 50 T TN AR
53

TINT S0ZReT0D 0BE BRE SHNYYED wosny worBeD Fedos T
WHOL AFTY, WTOT 03Rery, TOIRFCIL SORD.

15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30

48. 25321237 : 33263137 : : 38182923 : 9
(1) 24133916 (2) 24133539
(3) 30362413 4) 39351324

49. 28, 20, 38, 32, 37, 29, 16, 26, 92, ?
(1) 13, 35 (2) 35, 21
(3) 24, 30 4) 21, 35
50.  R0ed38 SoReedoDd Boedod TF WHOL FFRY, 230 Moo MOTIERO (FOIRT
QTBO BOSREOD es@%@)
271912 : 311722 :: 281438 : 9
(1) 322329 (2) 243621
(3) 292332 (4) 373916

BTV B FOTFN
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Directions Q. 51 to 53.

Identify the rhythmic arrangement of terms given below and find the correct term
in place of the question mark.

s NIDIENZEDDOEINEDPND
0 AN @ BN
®» M @ B

52. mnnsem?senmsen?m?nns
(I) nen 2) nme

(3) nne 4) esn

53. 5212417457422 1721745

() 725 2 275
3 572 4 752
54.  Health is wealth means  [Choose two correct options from the following.]

(1) Good health is the real wealth.
(2) Good health is equally important as wealth.
(3) Health and wealth are dependent on each other.

(4) Good health is enjoyed only by rich people.

SPACE FOR ROUGH WORK

0822-Kannada Set-A 20 of 32 Contd...



ABCDE FGHIIJ KLMNO PQRST UVWXY

3B 3=003 51 0o 53 O TLoTN 2HLE:
5%

51.

52.

53.

54.

3R, ©OWT, WIOBFBODYOD TBNG FROT, NROIBY, IRTER0R T, WTOD
APTY, WTT MOOTRY, TOIREF CPNRPOT SORD.

NN IATLEANP2IAN
%N 2 BN
3 [ME @ HEHE

mnnsem??senmsen?m?nns
(1) nen (2) nme
3) nne (4) esn

521 ?2417457?747221721745
1 725 2 275
3) 572 @ 752

BPRT @R YT 0TI BeRT T FedBeoBT. Bt HTTYCDH
9PRCTENT TBIVROID LOTE TOTIED. (;ﬂ@omd QT TOITFOD MOT2ERD)

(1) Geohesoard
(2) o3 oend
(3) TROAORS

(4) RZTBRR

BTV B FOTFN
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55.  The ratio of the present ages of Aashish and Aditya is 4:7. Eight years hence, the
ratio of their ages will be 2:3. Find Aditya's age five years ago.

(1) 28 years (2) 19 years
(3) 23 years (4) 11 years

56. Ishan told Aradhya “You are the daughter of my mother's sister-in-law.” How is
Aradhya related to Ishan's father?

(1) daughter (2) cousin

(3) niece (4) maternal aunt

57. In the following number series find the odd term.
2, 3,6, 10, 18, 27, 54, 81, 162
(1) 54 (2) 10
3) 162 (4) 242

58.  Ninad walked 5m. East. Then he walked 2.25m. North. Then he turned to his right,
in right angle and walked 5m. Now what will be the minimum distance from the
original position?

(1) 1025 m 2) 10.50 m
3) 925 m (4) 12.50 m

59.  Choose the correct alternative to complete the question figure.

Question Figure: Answer Figures:
™
N / - ) ]
(1) 2) €) (4)

SPACE FOR ROUGH WORK
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55. o Tone ©08 9B0 QodT RODBNY MBS 4:7 9B, 8 [AFNY
S083 &R0 BePTRY ROBREZT 2:3 SR, TGS SOZT 0T BRENAY
FRTOR BodR), HF), B?

(1) 28 [IRFND (2) 19 [IRFND
(3) 23 [RFND (4) 11 I[IRFNH

56. 3705T ToOW0 FRICIND STIFAN WERIRTORTY. ToMTT SIS
BoT33R00NR BTIRE FoWOTRER?

(1) RBwewd (2) R[nz

3) =R 4) 900
57.  39NT BoaR@ROFonYod SweE A MoSdERD.

2, 3, 6, 10, 18, 27, 54, 81, 162

(1) 54 2) 10

(3) 162 (4) 242

58.  QTTR0 TPTETIRER 5 e IBOT0T BRCTI). 900 DT YUITTIBREN 2.25
06 JTOINT BRCTR. W& 93 WOAR TLBREITE &TON 5 Qo¢ IE3cI0Z
BACTD). TG [RVFFOOT BB BN TIF, R), WOBTBYTI?

(1) 10.250¢ (2) 10.50 Q¢
(3) 9.25Q0¢ (4) 12.50 Q¢
9. 3T Bg 20 FerrBERGEL odeery TBOIRFOD SORO.
BT - 0TS BN :
N
N / / ] ]
(1) 2) 3) (4)
RO T FOITN
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60. In a Zoo, no animal is having any physical disability. Total number of legs of
deers and ducks together is 52 and the total number of heads taken together is
19. Find the number of ducks in the Zoo.

1y 7 Q) 14
3) 10 @) 12

Directions Q. 61 and 62.

The number of players playing different games in a school are given in the following
Venn diagram. Observe the figure and choose the correct alternative to answer the
questions that follow.

8
/ 5 ) Chess Players
Cricket Players —s 5| 4
3
/ 10 <— Hockey Players

61. How many players play indoor games?
(1) 8 2) 19
3) 18 4) 13

62. By What percentage the number of players playing only chess is more than the
number of players playing all the three games.

(1) 60% 2)  40%
3) 5% 4)  160%

SPACE FOR ROUGH WORK
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60. 2030 T, FONMTIOCRTYON 2O T,HNYY WHONDINTY, W8oE ToNH
WEEReY ARNY Fooong ol 52 Tene ISAY Tood 19 VP, TET ©
RONTOCPTHOD tBIBEREINY T0sS, ), QTATO?

1) 7 2) 14
(3) 10 4) 12
B3 IRP0T 61 T 62 T TN Tew:

3N B $FIADY, womd THIODNYED BeMTT Foad o) ERTBLRNT. ©TT
QOTR [RG BINY GVITRTRY, ToIRF oDROT RITISRD.

e 8 @RTon @
5 2
3303 57305 —| | 4

3

10

6l 393 suTET ek, BumSS Road A=?
(1 8 2 19
(3) 18 4) 13

62. Fem® 23T0Ton 383 STOWIT ﬁo@%oﬁa& DRTH €383 ST e33M0TT ﬁo@%ﬁoé
@d% RIGAD) éziﬁ QT2

(1) 60% (2) 40%
3) 75% 4) 160%

BTV B FOTFN
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Directions Q. 63 and 64.

Identify the water reflection of the question figure from the given alternatives.

63.  Question Figure: Answer Figures:
64.  Question Figure: Answer Figures:

{ﬂ@@@@

Directions Q. 65 to 69.

In each of the following questions relation between the third and the fourth term
1s the same as that between the first and the second term. Find the term to replace
the question mark.

65. 23 :49 :: 41 : ? (Select two correct alternatives)

(1) 1el (2) 125

(3) 85 4 92
66. Gold : Au : : Silver : ?

(1) Ag 2) Al

(3) Fe (4) Cu

SPACE FOR ROUGH WORK
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B3 300% 63 s 64 T FLITHN A6L:

$9NS BEFRCH DOVYOD BIWOWDT) TEIRFOBNLOT OO

w%#é Gicrte! essérieéo DRI

DIQIOY
DO

Sfon) 3 ede @samfo

Q©

{ﬂ@@@@

B3 5TIN0T 65 00T 69 T TN TRLIR:
R

BATORCL TR RTBEION TTNEA, 0INT 008 FowoRENTIC3Re e 08 Towos
FORTIODL Tonw RISV evs! TENTEY 2B. f&d@i RROSBYLIBR0T @3; WHOD
:jp%fd@q 230 odeery BOIREOD MOTOERD.

&L

65. 23 : 49 : : 41 : 7 (ROCIRT 20> FedweroHd S0R0)

(1) 161 2) 125
3 85 @) 92
66. o3 : Au : W 0 ?
(1) Ag (2) Al
(3 Fe 4) Cu

BTV B FOTFN
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67. Mango : Fruit : : Ginger : ?
(1) Leaf (2) Root
(3) Stem (4) Vegetable
68.
VAN
. A
° [ ) [ ) **y [ ) o
* 00
00 o
S D) [felen 5D
o0 y o0 -, o0 y Q X
o | A o | C IIN N
(1 2) 3) “4)
69. DH : N :: BF : ? (Choose two correct alternatives)
(1 1 (2) R
3 W @ J

Directions Q. 70 and 71.

In a certain code language the word HAD is written as 532, SHE is written as
145 and DIE is written as 391.

70. How will you write the word HIS in the same code language?
(1) 354 (2) 294
(3) 594 4) 539

71.  Which of the following word will be formed by the code 4293?
(1) DEAD (2) HEAD
(3) PAID (4) SAID

SPACE FOR ROUGH WORK
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67.  ZZog : Jwr : : NeR ¢ 9

(1) @303 ; (2) BeRoo3
(3) 3o (4) 983
68.
YAN
A
Ry
* 00
O O
BB D) [l w2
o0 y o0 y K A Q oo
o | A ° N Al @
(1) (3) 4)
69. DH:N::BF: ? (Naomd NTBY BWOIE O Qﬁ@ﬁ’o@)
(1) 1 2) R
3) W 4) 7J

B3 3=00T 70 Tone 71 S Feomeh Teu:
2,000 A0BeT YORODY, ‘TOES’ B Be) 7458, ‘de2’ B3 B 3786 WY ‘Tew’
B3 JeYWI), 5826 20T WIOTIW/I TITWTT....

70.  ‘Tod B3 BT ANRT WPF FAEOT TPFIY 0INT TWoTeET ©odNvoT

TOFRRNOTYTO?
(1) 683 (2) 745
(3) 685 4) 785

7L 2785 33 Awodedd o3nPon IIRTINMIT Ju), CIRTYTO?
(1) 28¢3 (2) ¢T3
(3) wxT (4) w&eT

BTV B FOTFN
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72.  In a certain code language COT is written as ELV, SUN is written as URP. How
will you write the word PIG in the same code language?

(1) RFI (2) RHI
(3) RGI 4) QIH

73.  Identify the correct mirror image of the question figure from the alternatives given.

Question Figure: Answer Figures:

(1) (2) (3) 4)

74.  The paper as shown in the question figure is folded and shaded region is cut as
shown in the question figure. How will the figure look like when the paper is
unfolded. Choose the correct option.

Question Figure: Answer Figures:

() 2) 3) @)

75.  In a certain year, Environment Day falls on Friday. Then on which day Children’s
Day will fall in the same year?

(1) Monday (2) Sunday
(3) Thursday (4) Saturday

SPACE FOR ROUGH WORK
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72 2,08 modeds PR COT i ELV @omd w3030m35, SUN # URP 0mH j:j?
WBcI03, TRES PIG 85 BWRI) Ber w037
(I) RFI (2) RHI
(3) RGI (4) QH
3. 3T Bg 2o SZRODYOD TEwownmy FoIRFOPRT SO,

= . . IO
TTFS ¢ UUZT TSN ¢ B3
9.9,

(D) ) 3) (4)

74.  3INT TIF BN TNTTE, WORT Tes RCIN0IT BRRT YT, 3O
STODPN BT BTT BOIRFONTYEIH IR SFSCIZ TEFRIRTO?

BT : IS SFIND :

(1) 2) ) (4)

75, BodnFEon ORI 3080 i wile SREEYED [TY DTtHR GRS ORI

QTIT)TO?
(1) RrRemowes (2) BRFT
(3) ™33 (4) 3=3
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